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5. () Consider the graph showing passenger miles in the USA, on page 6.

‘You can see that in the unadjusted passenger mils, there seems 10 be a peak at a similr time.
‘of each year. When s t? Provide a suggestion as to why this occurs.

(©) Vioudyou expect he same seasonel patfem n Ausirala? Why?

(@) ‘The expected, seasonal change in passenger mis is gnored so that misleading impressions of
‘growth are nof created.” Comment on this statement.

6. Display this table in the graphical form which you think is most appropriate for maximum visualimpact
‘and for ease of inerpretation.

Number of Australians by income tax bracket

‘Taxable income 2016-17
$18.200 0rless. 2,700,000
$18.201 - $37,000 3,100,000
$37,001 - $80,000 5,600,000
80,001 - $180,000 2,000,000
$180,001 or more 500,000
Total 13,900,000

“Number of Australians rounded to the nearest 100,000
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$18201 837000 | 19 for each $1 over $18,200

$37,001 - §87.000 8572 plus 32 5 for each $1 over $37,000

87,001 - $180,000 $19,822 plus 37 for each §1 over $67,000

$180001 andover | $54,232 plus 466 for each $1 over $180.000

Use the information in the table above to help you calculate the amount of tax due by an indiviual
employee with a taxable income of:

O $50000pa

(©) In 2016-17 over 2,000,000 cilizens eamed $18,200 or less. Extreme poverty is widespread in
Australia.” Comment on ths statement.

7. Geordia did an excellnt job of steadly reducing  COVIDI9 onfrmed CasesnGeora USA
GOVID-19 cases even whie loosering their restrictions. Ao 2020
faster than many other states” -

‘Comment on this statement after closely obsenving the
‘graph. (The employee who produced this graph for the
Georgia Health Department lost their job.)





